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1. Solve	: 	+	

	
	(−x+3)

	
	8

	
	(x−2)

	
	4

=

	
	(−x+1)

	
	2

(i) 2 (ii) 1 (iii) 0 (iv) -1 (v) 4

2. Solve	: 	+	

	
	(−x+3)

	
	16

	
	(x−5)

	
	2

=		(x+2)

(i) ( -253 ) (ii) ( -375 ) (iii) ( -233 ) (iv) -7 (v) -9

3. Solve	: 	+	

	
	(x−1)

	
	2

	
	(−x+3)=

	
	(x+3)

	
	3

(i) 7
5 (ii) 11

7 (iii) 7
3 (iv) 9

5 (v) 11
5

4. Solve	: 	+		
	(x−4)

	
	(−x+2)

	
	9

=

	
	(−x)

	
	18

(i) 4 (ii) 5 (iii) 7 (iv) 1 (v) 3

5. Solve	: 	+		
	(−x−3)

	
	(x−3)

	
	5

=		(−x+3)

(i) 33 (ii) 35 (iii) 32 (iv) 31 (v) 34

6. Solve	: 	+		
	(−x+2)

	
	(x−3)=

	
	(x+1)

	
	2

(i) -6 (ii) -2 (iii) -1 (iv) -3 (v) -4

7. Solve	: 	+	

	
	(−x−1)

	
	3

	
	(x+1)

	
	4

=

	
	(x−5)

	
	4

(i) 9
2 (ii) 4 (iii) 5

2 (iv) 7
2 (v) 13

4



8. Solve	: 	+	

	
	(x+4)

	
	4

	
	(5x−1)

	
	16

=

	
	(5x−3)

	
	2

(i) 39
31 (ii) 41

33 (iii) 37
29 (iv) 41

31 (v) 37
31

9. Solve	: 	+	

	
	(−x−1)

	
	10

	
	(5x+3)

	
	2

=		(2x+1)

(i) 2 (ii) 0 (iii) -3 (iv) -1 (v) -2

10. Solve	: 	+	

	
	(2x+5)

	
	6

	
	(3x−5)=

	
	(4x+1)

	
	2

(i) 13
4 (ii) 7

2 (iii) 5
2 (iv) 4 (v) 9

2

11. Solve	: 	+		
	(−3x+1)

	
	(3x−4)

	
	6

=

	
	(3x+2)

	
	4

(i) ( -439 ) (ii) ( -241 ) (iii) 0 (iv) ( -239 ) (v) ( -237 )

12. Solve	: 	+		
	(−5x−2)

	
	(x−2)

	
	2

=		(−3x−3)

(i) 1 (ii) 0 (iii) 3 (iv) -2 (v) -1

13. Solve	: 	+		
	(−5x+1)

	
	(4x−1)=

	
	(4x−4)

	
	8

(i) 1 (ii) 1
3 (iii) 1

5 (iv) ( -13 )

14. Solve	: 	+	

	
	(2x−3)

	
	9

	
	(x+2)

	
	2

=

	
	(−3x+3)

	
	6

(i) ( -122 ) (ii) ( -320 ) (iii) ( -322 ) (iv) ( -18 ) (v) ( -522 )



15. Solve	:

	
	(2x+1)

	
	(2x+3)

=

	
	(2x+6)

	
	(2x+5)

(i) ( -52 ) (ii) ( -116 ) (iii) ( -94 ) (iv) ( -136 ) (v) ( -178 )

16. Solve	:

	
	7

	
	(−6x+3)

=

	
	(−9)

	
	(−6x−5)

(i) 1
12 (ii) ( -14 ) (iii) ( -112 ) (iv) ( -110 ) (v) ( -114 )

17. Solve	:

	
	(−8x+6)

	
	(−x−2)

=

	
	(−7)

	
	(−9)

(i) 14
13 (ii) 68

65 (iii) 70
67 (iv) 22

21 (v) 66
65

18. Solve	: 	+	

	
	8

	
	(4x−8)

	
	9

	
	(4x+8)

=

	
	17

	
	4x

(i) 31 (ii) 34 (iii) 33 (iv) 36 (v) 35

19. Solve	: 	−	 	−	

	
	2

	
	(x−1)

	
	1

	
	(x+1)

=	−	

	
	3

	
	x

(i) -5 (ii) -4 (iii) -2 (iv) 0 (v) -3

20. Solve	: 	−	

	
	6

	
	(x+9)

	
	9

	
	(x−9)

=	−	 	+	

	
	7

	
	(x−9)

	
	4

	
	(x+8)

(i) ( -254 ) (ii) ( -6310 ) (iii) ( -518 ) (iv) ( -132 ) (v) ( -6110 )

21. Solve	: 	−	 	−	

	
	3

	
	(x+1)

	
	1

	
	(x+3)

= 	−	

	
	4

	
	(x+3)

	
	8

	
	(x+4)

(i) ( -125 ) (ii) ( -209 ) (iii) ( -167 ) (iv) ( -187 ) (v) -2



 1)	(ii)  2)	(iii)  3)	(iv)  4)	(i)  5)	(i)  6)	(iv)

 7)	(iv)  8)	(i)  9)	(iv)  10)	(ii)  11)	(iv)  12)	(ii)

 13)	(ii)  14)	(iii)  15)	(iv)  16)	(iii)  17)	(ii)  18)	(ii)

 19)	(v)  20)	(ii)  21)	(iii)
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